Algebra - Algebraic Fractions

Qi
(a) Show that the equation

3 4-Xxx
x+2 x-1

can be rearranged to give 3x’+7x-13=0

3)

(b) Solve 3x*+7x-13=0
Give your solutions correct to 2 decimal places.
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x’+x-6

Simplify full
e yx2—7.1c+10

(Total 3 marks)
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(a) Show that the equation

5  4-3x
x+2 x-1
can be rearranged to give 3x*+7x-13=0
S(x-1) = (4-3<)(x+2)
54 -5 = 42 —-32°+ 8 —(x

Cx -5 —4x +32° =8 +bzx =0

3+ T« - 13 =0

3)
(b) Solve 3x*+7x-13=0

Give your solutions correct to 2 decimal places.
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. . x +x-6
Simplify full
plity y.7c2-—7x+10
L
e -
= (x-2)(x+3) -1,
X - Ta #1004 e
- (x—Z)(x-.\") f;ii\/
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x"+z =6 (x=2) (5 +3)
%t -T7%x +10 (}/{)(:t -5)

oC + 3
Y-S

{l

(Total 3 marks)



